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T1(kA) COS®
RTO-100 | HDLRTO-100 | 380 100 |30, 40, 50. 60, 80, 100| 50 | 0.1~0.2 =12 <12
RT0-200 | HDLRT0-200 | 380 | 200 | 80. 100. 120. 150, 200 | 50 | 0.1~0.2 =32 <23
RT0O-400 | HDLRT0-400 | 380 | 400 |200. 250, 300. 350, 400| 50 | 0.1~0.2 =45 <34
RT0-600 | HDLRT0-600 | 380 | 600 300, 400, 500, 600 50 | 0.1~0.2 =60 <48
RTO-1000 | HDLRTO-1000 | 380 | 1000 700, 800. 1000 50 | 0.1~0.2 =90 <90
5 SMEREERS
5 AKSHT RSN R~
n _

A-547



TENGEN =*: XEB=

RTOZ 5| 7] BY fih 3L A iy 25

RAf Com)
D
RT0-100 125 67 40 40 6 52 18
RT0-200 135 67 46 46 6 58 23
RT0-400 145 67 55 55 6 66 30
RT0O-600 165 67 66 66 6 7 36
RT0-1000 280 89 86 86 6 100 47
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RTO-100 180 160 80 20 30 20 55 15 32 73 M8 o9
RT0-200 200 175 80 20 30 25 60 15 33 85 M10 o9

RT0-400 220 190 80 20 30 30 70 15 33 95 M12 @ 9

RT0-600 260 220 80 20 30 40 80 20 38 118 M16 D9

RT0-1000 350 305 110 50 40 50 91 33 45 146 M20 @13
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